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r1. tan 10º. tan 80º = ?

(a) 1 (b) – 1

(c) 0 (d) 2

2. tan 39º. tan 43º. tan 47º. tan 51º = ?

(a) 1 (b) – 1

(c) 0 (d) 2

3. tan 10º. tan 20º. tan 30º. tan 40º.tan 50º.
tan 70º. tan 80º = ?

(a) 3 (b)
1

3

(c) 1 (d) 0

4. tan 1º.tan 2º.tan 3º.........tan 88º.tan 89º= ?

(a) 1 (b) – 1

(c) 0 (d) 2

5. tan 1º.tan 3º.tan 5º.........tan 87º.tan 89º= ?

(a) 3 (b)
1

3

(c) 1 (d) 0

6. tan 5º.tan 10º.tan 15º.........tan 80º.tan 85º = ?

(a) 1 (b) – 1

(c) 0 (d) 2

7. If tan A. tan B = 1, then A + B = ?

(a) 60º (b) 90º

(c) 30º (d) 120º

8. If tanθ . tan2 θ  = 1, then sin3 θ  = ?

(a)
1

2
(b)

1

2

(c) 1 (d) 0

9. If tan3θ. tan6θ=1, then sin3θ + cos3θ = ?

(a)
1 3

2


(b)

1 3

2



(c) 3 (d)
1

3

TRIGONOMETRY (Practice Sheet – 4)

https://t.me/RankersGurukulLive

https://youtube.com/c/RankersGurukul SSC CGL 19 Maths-227/200

10. If tan(x + y).tan(x – y) = 1, then sinx +
cosx = ?

(a) 1 (b) 2
(c) 0 (d) – 1

11. If tan(a + 2β ).tan(a – 2β ) = 1, then tana

+ cota = ?

(a) 1 (b) – 1

(c) 0 (d) 2

12. If tan(x + 3y).tan(x – 3y) = 1, then cosx = ?

(a)
1

2
(b)

1

2

(c) 1 (d) 0

13. If tan37º. tanθ  = 1, thenθ  = ?

(a) 53º (b) 43º

(c) 63º (d) 90º

14. If tan
12


.tanθ  = 1, then θ  = ?

(a)
3

10


(b)

5

12



(c)
7

12


(d)

12



15. tan
12


. tan

5

12


 = ?

(a) 1 (b) – 1

(c) 0 (d) 2

16. tan
10


. tan

2

10


. tan

3

10


tan

4

10


 = ?

(a) 1 (b) – 1

(c) 0 (d) 2

17. tan
20


.tan

3

20


.tan

7

20


.tan

9

20


 = ?

(a) 1 (b) – 1

(c) 0 (d) 2

If  +  = 90º, then

tan  × tan = 1, sin  × sec = 1, cos  × cosec = 1
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18. If tanA. tanB = 1, then sin2A + sin2B = ?

(a) 1 (b) – 1

(c) 0 (d) 2

19. If tana. tanβ  = 1, then 
sin

cosβ


 = ?

(a) 1 (b) – 1

(c) 0 (d) 2

20. If tanx. tany = 1, then
secx

cosecy
 = ?

(a) 1 (b) – 1

(c) 0 (d) 2

21. cot 10º. cot 80º = ?

(a) 1 (b) – 1

(c) 0 (d) 2

22. cot 39º. cot 43º. cot 47º. cot 51º = ?

(a) 1 (b) – 1

(c) 0 (d) 2

23. cot 10º. cot 20º. cot 30º. cot 40º. cot 50º.
cot 70º. cot 80º = ?

(a) 3 (b)
1

3

(c) 1 (d) 0

24. cot 1º. cot 2º. cot 3º.........cot 88º. cot 89º
= ?

(a) 1 (b) – 1

(c) 0 (d) 2

25. cot 1º. cot 3º. cot 5º.........cot 87º. cot 89º
= ?

(a) 3 (b)
1

3

(c) 1 (d) 0

26. cot 5º.cot 10º.cot 15º......cot 80º.cot 85º = ?

(a) 1 (b) – 1

(c) 0 (d) 2

27. 4 cotA. cotB= 1, then A + B = ?

(a) 60º (b) 90º

(c) 30º (d) 120º

28. If cotθ .cot2θ  = 1, then sin3 θ  = ?

(a)
1

2
(b)

1

2

(c) 1 (d) 0

29. If cot3θ.cot6θ = 1, then sin3θ + cos3θ = ?

(a)
1 3

2


(b)

1 3

2



(c) 3 (d)
1

3

30. If cot(x + y).cot(x – y) = 1, then sinx + cosx
= ?

(a) 1 (b) 2
(c) 0 (d) – 1

31. I f cot (a + 2β ).cot(a – 2b) = 1, then cota +

cota = ?

(a) 1 (b) – 1

(c) 0 (d) 2

32. If cot(x + 3y).cot(x – 3y) = 1, then cosx = ?

(a)
1

2
(b)

1

2

(c) 1 (d) 0

33. If cot37º. cotθ  = 1, then θ  = ?

(a) 53º (b) 43º

(c) 63º (d) 90º

34. If cot
12


.cotθ  = 1, then θ  = ?

(a)
3

10


(b)

5

12



(c)
7

12


(d)

12



35. cot
12


.cot

5

12


= ?

(a) 1 (b) – 1

(c) 0 (d) 2

36. cot
10


. cot

2

10


.cot

3

10


. cot

4

10


 = ?

(a) 1 (b) – 1

(c) 0 (d) 2

37. cot
20


.cot

3

20


.cot

7

20


.cot

9

20


 = ?

(a) 1 (b) – 1

(c) 0 (d) 2

38. If cotA. cotB = 1, then sin2A + sin2B = ?

(a) 1 (b) – 1

(c) 0 (d) 2

39. If cota. cotβ = 1, then 
sin

cosβ


 = ?

(a) 1 (b) – 1

(c) 0 (d) 2

40. If cotx.coty = 1, then
secx

cosecy
 = ?

(a) 1 (b) – 1

(c) 0 (d) 2
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41. If sin( θ + 10º) = cos( θ + 20º), then θ  = ?

(a) 30º (b) 40º

(c) 50º (d) 60º

42. If sin( θ – 10º) = cos( θ – 20º), then θ  = ?

(a) 30º (b) 40º

(c) 50º (d) 60º

43. If tan(x + 5º) = cot(x + 5º), then x = ?

(a) 30º (b) 40º

(c) 50º (d) 60º

44. If sec(x + 25º) = cosec(x + 5º), then x = ?

(a) 30º (b) 40º

(c) 50º (d) 60º

45. If cot(x – 5º) = tan(x – 25º), then x = ?

(a) 30º (b) 40º

(c) 50º (d) 60º

46.
sin43º cos47º

+
cos47º sin43º

 = ?

(a) 0 (b) 1

(c) 2 (d) 3

47.
tan39º cot51º

+
cot51º tan39º

 = ?

(a) 0 (b) 1

(c) 2 (d) 3

48.
sec40º cosec50º

+
cosec50º sec40º

 = ?

(a) 0 (b) 1

(c) 2 (d) 3

49.
sin20º tan70º sec20º

+ +
cos70º cot20º cosec70º

 = ?

(a) 0 (b) 1

(c) 2 (d) 3

50. sin40º. sec50º = ?

(a) 0 (b) 1

(c) 2 (d) 3

51. sin39º.sin40º.sec50º.sec51º = ?

(a) 0 (b) 1

(c) 2 (d) 3

52.
5

sin sec
12 12

 
= ?

(a) 0 (b) 1

(c) 2 (d) 3

53.
3 7 9

sin sin sec sec
20 20 20 20

   
 = ?

(a) 0 (b) 1

(c) 2 (d) 3

54. cos39º. cosec51º = ?

(a) 0 (b) 1

(c) 2 (d) 3

55. cos20º. cosec50º. cos40º. cosec70º = ?

(a) 0 (b) 1

(c) 2 (d) 3

56.
5

cos cosec
12 12

 
 = ?

(a) 0 (b) 1

(c) 2 (d) 3

57.
4 11 14

cos cos cosec cosec
30 30 30 30

   
 = ?

(a) 0 (b) 1

(c) 2 (d) 3

58. If sin secθ
15


 = 1, then θ  = ?

(a)
13

30


(b)

5



(c)
11

20


(d)

14

15



59. If sinθ . sec 35º = 1, then θ  = ?

(a) 55º (b) 25º

(c) 45º (d) 65º

60. If cosθ . cosec 65º = 1, then θ  = ?

(a) 55º (b) 25º

(c) 45º (d) 65º

61. If 
20

cos


.cosecθ  = 1, then θ  = ?

(a)
13

20


(b)

5



(c)
9

20


(d)

14

15



62. If sina. secβ = 1, then tana. tanβ  = ?

(a) 0 (b) 1

(c) 2 (d) 3

63. If cosx. cosecy = 1, then cotx. coty = ?

(a) 0 (b) 1

(c) 2 (d) 3

64. If sinA.secB = 1, then 
tan A

cotB
 = ?

(a) 0 (b) 1

(c) 2 (d) 3

65. If sinA. secB = 1, then cosA.cosecB = ?

(a) 0 (b) 1

(c) 2 (d) 3

66. If cosa.cosecβ  = 1, then sina. secβ = ?

(a) 0 (b) 1

(c) 2 (d) 3
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67. If tan4θ = cot(2θ+ 30º), then θ  is equal to :

SSC CGL 11 June 2019 (Morning)

(a) 15º (b) 10º

(c) 20º (d) 25º

68. If sinθ  = cos(50º + θ ), then θ  is equal to :

SSC CGL 11 June 2019 (Afternoon)

(a) 20º (b) 25º

(c) 30º (d) 35º

69. If sin5 θ  = cos(50º – 3θ ), then θ  is equal

to :

SSC CGL 11 June 2019 (Morning)

(a) 20º (b) 25º

(c) 30º (d) 15º

70. If tan4θ = cot(40º–2θ ), then θ  is equal to :

SSC CGL 12 June 2019 (Morning)

(a) 20º (b) 25º

(c) 35º (d) 40º

71. If cosec3θ  = sec(20º + 2θ ), then θ  is equal

to :

SSC CGL 12 June 2019 (Afternoon)

(a) 30º (b) 20º

(c) 15º (d) 14º

72. If cosec4θ  = sec(60º – 2θ ), then θ  is equal

to :

SSC CGL 12 June 2019 (Evening)

(a) 18º (b) 22º

(c) 15º (d) 20º

73. If sin3 θ  = cos(20º – θ ), then θ  is equal

to :

SSC CGL 13 June 2019 (Morning)

(a) 25º (b) 35º

(c) 28º (d) 30º

74. If cosec2θ = sec(3θ–15º), then θ  is equal to :
SSC CGL 13 June 2019 (Afternoon)

(a) 22º (b) 20º
(c) 25º (d) 21º

75. If tanx = cot(45º + 2x), then x is equal to :
SSC CGL 12 June 2019 (Evening)

(a)
45

2


(b) 20º

(c) 15º (d) 45º

76. If tanx = cot (60º + 6x), then what is the
value of x ?

SSC CHSL 3 July 2019 (Evening)

(a) 10º (b)
30

7



(c)
15

2


(d) 12º

77. If tanx = cot(65º + 9x), then what is the
value of x ?

SSC CHSL 4 July 2019 (Afternoon)

(a) 2.5º (b) 1º

(c) 2º (d) 1.5º

78. If tan3x = cot(30º + 2x), then what is the
value of x ?

SSC CPO 2018 12 March 2019 (Evening)

(a) 18º (b) 12º

(c) 10º (d) 15º

79. If sec 2x = cosec(3x – 45º), then x is equal
to :

SSC CPO 2018 13 March 2019 (Evening)

(a) 40º (b) 45º
(c) 27º (d) 35º

80. If tanx = cot(45º + 2x), then what is the
value of x ?

SSC CPO 2018 12 March 2019 (Morning)

(a) 45º (b) 15º

(c)
45

2


(d) 20º

81. If sinx – cosx = 0, then the value of
(sin3x – cos3x ) is :

SSC CHSL 13/10/2020 (Evening)

(a) 0 (b) 2
(c) 1 (d) 4

82. If sinx – cosx = 0, 0º < x < 90º, then the
value of (secx + cosecx)2 is :

SSC CHSL 15/10/2020 (Morning)

(a) 8 (b) 4
(c) 10 (d) 6

83. If tan4A = cot(A – 20º), 0º < θ  < 90º, then
the value of A is :

SSC CHSL 16/10/2020 (Afternoon)

(a) 22º (b) 80º
(c) 5º (d) 14º

84. If cos3 θ = sin(θ  – 34º), then the value of

θ  as an acute angle is :
SSC CHSL 20/10/2020 (Morning)

(a) 34º (b) 31º
(c) 56º (d) 17º

85. If θ  is a positive acute angle and tan2θ .

tan3θ= 1, then the value of θ is :
SSC CHSL 20/10/2020 (Afternoon)

(a) 45º (b) 18º
(c) 60º (d) 36º

86. If cotA = tan (2A – 45º), A is an acute angle
then tanA is equal to :

SSC CHSL 20/10/2020 (Evening)

(a)
1

2
(b) 0

(c) 3 (d) 1
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87. If sin7x = cos11x, 0º < x < 90º, then the
value of tan9x is :

SSC CHSL 20/10/2020 (Morning)

(a)
3

2
(b) 1

(c)
1

3
(d) 3

88. If sin3A = cos (A+10º), where 3A is an
acute angle then what is the value of

2 cosec
3A

2
+ 6tan2 3A –

3

2
tan23A?

SSC CGL 2019 Tier-II (15/10/2020)

(a)
7

4
(b)

35

2

(c)
17

2
(d) 5

89. If sec3x = cosec(3x – 45º), where 3x is an
acute angle, then x is equal to :

SSC CPO 23/11/2020 (Evening)

(a) 35º (b) 27.5º

(c) 22.5º (d) 45º

90. If sec3x = cosec(3x + 45º), 0º < 3x < 90º,
then x is equal to :

SSC CPO 23/11/2020 (Evening)

(a) 7.5º (b) 5.5º

(c) 2.5º (d) 10.5º

91. If 4q  is is an acute angle and cot

4θ= tan(θ– 5º), then what is the value of θ?
SSC CPO 24/11/2020 (Evening)

(a) 45º (b) 19º

(c) 21º (d) 24º

If  +  = 90º, then

sin2  + sin2 = 1   &
cos2   +  cos2 = 1

92. sin243º + sin247º = ?

(a) 0 (b) 1

(c) 2 (d) 3

93. sin239º + sin249º + sin241º + sin251º = ?

(a) 0 (b) 1

(c) 2 (d) 3

94. sin21º + sin22º + sin23º ........... + sin288º +
sin289º = ?

(a)
45

2
(b) 44

(c)
89

2
(d)

25

2

95. sin21º + sin23º + sin25º ........... + sin289º = ?

(a)
45

2
(b) 44

(c)
89

2
(d)

25

2

96. sin22º + sin24º + sin26º ......... + sin288º = ?

(a)
45

2
(b) 22

(c)
89

2
(d)

25

2
97. sin25º + sin210º + ..... + sin285º + sin290º = ?

(a)
45

2
(b) 44

(c)
19

2
(d)

25

2

98. sin2

12


 + sin2

5

12


 = ?

(a) 0 (b) 1

(c) 2 (d) 3

99. sin2

20


 + sin2

3

20


 + sin2

7

20


 + sin2

9

20


 = ?

(a) 0 (b) 1
(c) 2 (d) 3

100. If sin2 θ+ sin257º = 1, then θ = ?
(a) 23º (b) 33º
(c) 34º (d) 53º

101. If sin2

10


 + sin2 θ = 1, then θ = ?

(a)
2

5


(b)

4

5



(c)
3

5


(d)

5



102. If sin2 θ+ sin2 2θ= 1, then sinθ . sin2θ= ?

(a)
3

4
(b)

3

2

(c) 3 (d)
1

3

103. If sin2(x – y) + sin2(x + y) = 1, then sinx +
cosx = ?

(a)
3

4
(b) 2

(c) 3 (d)
1

3

104. If sin2(a + 2β ) + sin2(a – 2β ) =1, then tana
= ?
(a) 0 (b) 1
(c) 2 (d) 3
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105. If sin2a + sin2β =1, then tana.tanβ  = ?

(a) 0 (b) 1
(c) 2 (d) 3

106. If sin2x + sin2y =1, then cotx. coty = ?
(a) 0 (b) 1
(c) 2 (d) 3

107. If sin2A + sin2B =1, then 
sin A

cos B
 = ?

(a) 0 (b) 1
(c) 2 (d) 3

108. If sin2a + sin2β  =1, then sina.secβ  = ?

(a) 0 (b) 1
(c) 2 (d) 3

109. If sin2x + sin2y =1, then cosx. cosecy = ?
(a) 0 (b) 1
(c) 2 (d) 3

110. If sin2A + sin2B =1, then 
tan A

cotB
 = ?

(a) 0 (b) 1
(c) 2 (d) 3

111. If sin2a + sin2β  =1, then 
cos A

sinB
= ?

(a) 0 (b) 1
(c) 2 (d) 3

112. If sin2a + sin2β  =1, then 
sec

cosec



  = ?

(a) 0 (b) 1
(c) 2 (d) 3

113. If sin23 θ + sin26 θ = 1, then tan3 θ = ?

(a)
3

4
(b)

3

2

(c) 3 (d)
1

3

114. cos243º + cos247º = ?
(a) 0 (b) 1
(c) 2 (d) 3

115. cos239º + cos249º + cos241º + cos251º = ?
(a) 0 (b) 1
(c) 2 (d) 3

116. cos21º + cos2 2º + cos23º ......... + cos288º
+ cos2 89º = ?

(a)
45

2
(b) 44

(c)
89

2
(d)

25

2
117. cos21º + cos23º + cos25º ........ + cos289º = ?

(a)
45

2
(b) 44

(c)
89

2
(d)

25

2

118. cos22º + cos24º + cos26º ........ + cos288º =?

(a)
45

2
(b) 22

(c)
89

2
(d)

25

2
119. cos25º + cos210º + ..... + cos285º + cos290º = ?

(a)
45

2
(b) 44

(c)
19

2
(d)

25

2

120. cos2

12


 + cos2

5

12


 = ?

(a) 0 (b) 1

(c) 2 (d) 3

121. cos2

20


 + cos2

3

20


 + cos2

7

20


 + cos2

9

20


= ?

(a) 0 (b) 1

(c) 2 (d) 3

122. If cos2 θ+ cos257º = 1, then θ = ?

(a) 23º (b) 33º

(c) 34º (d) 53º

123. If cos2

10


 + cos2 θ= 1, then θ= ?

(a)
2

5


(b)

4

5



(c)
3

5


(d)

5



124. If cos2 θ+ cos2 2θ=1, then cosθ .cos2θ= ?

(a)
3

4
(b)

3

2

(c) 3 (d)
1

3

125. If cos2(x – y) + cos2(x + y) = 1, then  cosx
+ cosx = ?

(a)
3

4
(b) 2

(c) 3 (d)
1

3

126. If cos2(a + 2β ) + cos2(a – 2β ) =1, then tana
= ?

(a) 0 (b) 1

(c) 2 (d) 3

127. If cos2a + cos2β =1, then tana.tanβ = ?

(a) 0 (b) 1

(c) 2

(d) 3
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128. If cos2x + cos2y =1, then cotx.coty = ?

(a) 0 (b) 1

(c) 2 (d) 3

129. If cos2A + cos2B =1, then 
cos A

cos B
 = ?

(a) 0 (b) 1
(c) 2 (d) 3

130. If cos2a + cos2β =1, then cosa. secβ = ?

(a) 0 (b) 1
(c) 2 (d) 3

131. If cos2x + cos2y =1, then cosx.cosecy = ?
(a) 0 (b) 1
(c) 2 (d) 3

132. If cos2A + cos2B =1, then 
tan A

cotB
 = ?

(a) 0 (b) 1
(c) 2 (d) 3

133. If cos2a + cos2β =1, then 
cos A

cos B
= ?

(a) 0 (b) 1
(c) 2 (d) 3

134. If cos2a + cos2β =1, then 
sec

cosec



  = ?

(a) 0 (b) 1
(c) 2 (d) 3

135. If cos23 θ + cos26 θ = 1, then tan3 θ = ?

(a)
3

4
(b)

3

2

(c) 3 (d)
1

3

136. The value of 
2 2

2 2

sin 24º+sin 66º

cos 24º+cos 66º
 + sin2 61º +

cos61º. sin29º is
SSC CGL 13 June 2019 (Evening)

(a) 3 (b) 1
(c) 2 (d) 0

137. The value of

(cos9º+sin81º)(sec9º+cosec81º)

sin56º.sec34º+cos25º.cosec65º
 is :

SSC CHSL 2 July 2019 (Evening)

(a)
1

2
(b) 4

(c) 2 (d) 1

138. The simplified value of 
2 2

2 2

sin 25º+sin 65º

cos 24º+cos 66º
+sin271º+ cos71º. sin19º is

SSC CHSL 2 July 2019 (Afternoon)

(a) 0 (b) 1
(c) 2 (d) 3

139. If 6(sec259º – cot231º) +
2

3
sin 90º – 3tan256º

y tan2 34º = 
3

y
, then the value of y is

SSC CHSL 5 July 2019 (Afternoon)

(a)
2

3
(b) – 

2

3
(c) 2 (d) – 2

140. If 6(sec2 59º–cot2 31º) –
2

3
sin 90º– 3 tan2 56º

y  tan2 34º = 
3

y
, then the value of y is

SSC CHSL 5 July 2019 (Evening)

(a)
8

5
(b) – 

8

5

(c)
2

3
(d) – 

2

3

141. If 2(cosec239º–tan251º)–
2

3
sin 90º– tan2 56º

y tan234º = 
3

y
, then the value of y is:

SSC CHSL 8 July 2019 (Morning)

(a) 1 (b)
2

3

(c) – 
2

3
(d) – 1

142. If 4(cosec2 66º – tan2 24º)+
1

2
sin90º – 4tan

266º y tan2 24º = 
y

2
, then the value of y is

SSC CHSL 8 July 2019 (Afternoon)

(a)
1

2
(b) 1

(c) – 
1

2
(d) – 1

143. Find the simplified value of

3 3sin 21º+cos 19º

sin21º+cos19º
 + sin269º + cos271º +

1

sec69º.cosec71º
.

SSC CGL 11 June 2019 (Morning)

(a) 3 (b) 1
(c) 4 (d) 2

144. The value of 
2 2

2 2

sin 24º+sin 66º

cos 24º+cos 66º
 + sin261º

+ cos 61ºsin29º is equal to :
SSC CPO 2018 12 March 2019 (Morning)

(a) 2 (b) 3

(c) 1 (d) 0
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145. The value of

2 2 2

2 2 2 2

2sin 38ºsec 52º+cos64ºsin26º+sin 64º

tan 23º+cot 23º-sec 67º-cosec 67º
 is :

SSC CGL 2019 Tier-II (15/10/2020)

(a) – 2 (b)
3

2

(c) 2 (d) –
3

2
146. If x = sec57º, then cot233º + sin257º +

sin233º+cosec257ºcos233º + sec233º.sin257º
is equal to :

SSC CGL 2019 Tier-II (16/10/2020)

(a) x2 + 2 (b) 2x2 + 1

(c) x2 + 1 (d)
1

² 1x 

147. The value of 
2 2

2 2

sin 52º+2 + sin 38º

4cos 43º -5 + 4cos 47º
 is :

SSC CPO 24/11/2020 (Evening)

(a) 3 (b)
1

3

(c) – 3 (d) –
1

3
148. The value of

2 2 2 21 1
sin 7 + sin 82 + tan 2º.tan 88º

2 2

 
    is

:

(a) 1 (b) 2

(c) 0 (d) 4

149. The value of sin265º + sin225º + cos235º +
cos2 55º is :

(a) 0 (b) 1

(c) 2 (d)
1

2

150. The value of sin222º + sin268º + cot230º is :

(a) 4 (b) 3

(c)
3

4
(d)

5

4

151. The value of sin21º + sin25º + sin29º + .......
+ sin289º  is :

(a) 11
1

2
(b) 11 2

(c) 11 (d)
11

2

152. The value of sin2 38º + sin252º + sin230º –
tan245º is equal to :

(a) 0.5 (b) 0.25

(c) 1 (d) 0.75

a sinq + b cosq = 2 2a +b

153. If 3sinθ + 4cos θ = 5, then tanθ = ?

(a)
3

4
(b)

5

4

(c)
4

5
(d)

3

5

154. If 5sinθ + 12cos θ = 13, then tanθ = ?

(a)
12

5
(b)

5

12

(c)
5

13
(d)

13

5

155. 2xy sinθ + (x2 – y2) cos θ = x2 + y2, then

tanθ = ?

(a) 2 2

2xy

x - y
(b) 2 2

2xy

x + y

(c)

2 2

2 2

x - y

x + y
(d) 1

156. If 12sinθ + 35cosθ = 37, then cosec θ = ?

(a)
12

37
(b)

37

12

(c)
35

37
(d)

12

35

157. (a2 – 1)sinθ+ 2a cosθ= a2 + 1, then tanθ= ?

(a)
2a -1

2a
(b) 2

2a

a -1

(c)
2

2

a +1

a -1
(d) 1

158. If 10 sin4a + 15 cos4a = 6, then find the
value of 27cosec6a + 8 sec6a.

(a) 150 (b) 125

(c) 200 (d) 250

159. If 15 sin3a + 20 cos3a = 12, then find the
value of 10sina + 15cosa.

(a) 8 (b) 17

(c) 9

(d) None of these

If a sinθ + b cosθ = x & a
cosθ – b sinθ = y then a2 +

b2 = x2 + y2
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160. If a sinA + b cosA = c, then a cosA – b
sinA is equal to :

SSC CHSL 18/03/2020 (Evening)

(a) 2 2 2a - b - c (b) 2 2 2a + b - c

(c) 2 2 2a + b + c (d) 2 2 2a - b + c
161. If 3 sinx + 4 cosx = 2, then the value of

3cosx – 4sinx is equal to :

SSC CGL 2019, Tier-II (18/10/2020)

(a) 21 (b) 23

(c) 21 (d) 29

162. If 2 cosθ – sinθ = 
1

2
, (0º < θ < 90º) the

value of 2sinθ + cosθ is :

(a)
1

2
(b) 2

(c)
3

2
(d)

3

3

163. The climination of θ from x cosθ – y sinθ

= 2 and x sinθ + y cosθ = 4 will give

(a) x2 + y2 = 20 (b) 3x2 + y2 = 20

(c) x2 – y2 = 20 (d) 3x2 – y2 = 20

164. If 3sinθ +5cosθ = 5, then 5sinθ – 3cosθ

is equal to :

(a) ± 3 (b) ± 5

(c) 1 (d) ± 2

165. If x = a sinθ – b cosθ , y = a cosθ+b sinθ ,

then which of the following is true?

(a)

2 2

2 2

x a
+ = 1

y b
(b) x2 + y2 = a2 – b2

(c)
2 2

2 2

x y
+ = 1

a b
(d) x2 + y2 = a2 + b2

166. If p secθ – q tanθ = 10 and p tanθ  – q secq
= 8, then find p2 – q2 + 4.

(a) 24 (b) 54

(c) 40 (d) 36

167. If 3 cosecθ – 7cot θ = 3, then find 3cot θ –

7cosecθ = ?
(a) ± 3 (b) ± 7

(c) ± 5 (d) ± 2

168. If sinθ + cosθ = 
17

13
, then sinθ - cos θ  = ?

(a) ± 
17

7
(b) ± 

13

7

(c) ± 
7

17
(d) ± 

7

13

169. If sinθ – cos θ = 
7

17
, then sinθ + cos θ = ?

(a)
23

17
(b)

8

17

(c)
17

23
(d)

17

8
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Answer Key

1.(a) 2.(a) 3.(b) 4.(a) 5.(c) 6.(a) 7.(b) 8.(c) 9.(a) 10.(b)

11.(d) 12.(a) 13.(a) 14.(b) 15.(a) 16.(a) 17.(a) 18.(a) 19.(a) 20.(a)

21.(a) 22.(a) 23.(b) 24.(a) 25.(c) 26.(a) 27.(b) 28.(c) 29.(a) 30.(b)

31.(d) 32.(a) 33.(a) 34.(b) 35.(a) 36.(a) 37.(a) 38.(a) 39.(a) 40.(a)

41.(a) 42.(d) 43.(b) 44.(a) 45.(d) 46.(c) 47.(c) 48.(c) 49.(d) 50.(b)

51.(b) 52.(b) 53.(b) 54.(b) 55.(b) 56.(b) 57.(b) 58.(a) 59.(a) 60.(b)

61.(c) 62.(b) 63.(b) 64.(b) 65.(b) 66.(b) 67.(b) 68.(a) 69.(a) 70.(b)

71.(d) 72.(c) 73.(b) 74.(d) 75.(c) 76.(b) 77.(a) 78.(b) 79.(c) 80.(b)

81.(a) 82.(a) 83.(a) 84.(b) 85.(b) 86.(d) 87.(b) 88.(b) 89.(c) 90.(a)

91.(b) 92.(b) 93.(c) 94.(c) 95.(a) 96.(b) 97.(c) 98.(b) 99.(c) 100.(b)

101.(a) 102.(a) 103.(b) 104.(b) 105.(b) 106.(b) 107.(b) 108.(b) 109.(b) 110.(b)

111.(b) 112.(b) 113.(d) 114.(b) 115.(c) 116.(c) 117.(a) 118.(b) 119.(c) 120.(b)

121.(c) 122.(b) 123.(a) 124.(a) 125.(b) 126.(b) 127.(b) 128.(b) 129.(b) 130.(b)

131.(b) 132.(b) 133.(b) 134.(b) 135.(d) 136.(c) 137.(c) 138.(c) 139.(c) 140.(a)

141.(a) 142.(b) 143.(d) 144.(a) 145.(d) 146.(a) 147.(c) 148.(b) 149.(c) 150.(a)

151.(a) 152.(b) 153.(a) 154.(b) 155.(a) 156.(b) 157.(a) 158.(d) 159.(b) 160.(b)

161.(a) 162.(c) 163.(a) 164.(a) 165.(d) 166.(c) 167.(b) 168.(d) 169.(a)

https://t.me/mathsdoubtgroupbyadityaranjan

	Blank Page

